


SECTION A

Answer all the questions in this section

1 (a)
(b)

2 (a)
(b)

3 (a)
(b)

4 (a)

5 (a)
(b)

SECTION B

(1) Define mining (1 mark)
(i)  -Name two mining methods (2 marks)
State two negative effects of mining on the environment (2 marks)
Give two main inland tourist attractions in Kenya (2 marks)
- State three human factors favoring tourism in Switzerland (3 marks)
Mention two primary sources of population data (2 marks)

State three reasons why Kenya has a high rate of population growth -
(3 marks)

() What is ‘industrial inertia’? (1 mark)

(11) State two causes of industrial ineriia (2 marks)
Distinguish between land reclamation and land rehabilitation (2 marks)

State three significances of iir gation farming in Kenva (3 marks)

Answer question 6 and any other two questions from this section

5. The table belcw shows forest plantations by area in hectares in three countries in
Kenya between 2001 and 2014. Use it to answer the questions that follow

| County/years 2001 2002 2003 2004
Nakuru 150 140 120 100
Kericho 140 135 130 110
Nandi 120 110 - 105 90
a) 1) Using a scale of 1cm to represent 10 hectares, draw a comparative lien graph
to represent the above data. (6 marks)
i1) Comment on the trend of the graph (1 mark) .
1i1) Give one advantage of using the above method to represent the above data

(1 mark)
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